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Attempt All questions.
All questions carry equal marks.
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1. (a) “Tax planning is a legal right whereas tax evasion
is a legal offence.” Discuss. (5)

{b) What is the company in which the public are
substantially interested under section 2(18) of the
Income Tax Act 1961. (10)

OR
| . .

(a) What are the provisions with regard to carry
forward and set off of losses of a company in
which the public are not substantially interested
under section 79. Is section 79 applicable to losses
under the héad capital gains also. (6)

(b) State with reasons if the following dompanies are

those in which the public are substantially
interested.

() X Ltd. registered under section 25 of the
Indian Companies Act 1956 for promotion of
commerce. It distributes a part of its profits
to its members,
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(iii)

3

(i) Y Ltd. a private company; which has issued

7500 equity shares out of which 2000 shares
are held by two directors, 250 shares by
another director, 1250 shares by two public
men and balance 4000 shares by 50 persons
equally. \

7 1td. is a public company with a share capltal
of Rs. 6,00,000. It consists of 40,000 cqulty
shares of Rs. 10 each and 2000 - 8%
preference shares of Rs 100 each. Out of

" this 10,000 equityshares and 1300 preferencc

shares aré held by Government of India.(9)

(a)“mﬁamwﬁmmam%,mma%
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(i) TP @ HadT @ R W w el s 1956
W UR 25 B FAA ToGd X Ltd. T8 FI N
F OTE W IO Gl ¥ faRa w1

(if) v& Bt & Y Lid, PR 7500 RS I
T faw fomd ¥ 2000 R A FRI= g wRa
¥, 250 WX W PRWE TW, 250 W W
awﬁﬁfmaﬂtﬁwaoooﬁmsomﬁaﬁfmw
;| ¥ aig &

(iii) Z Ltd., v wdofr woh 3 fraedt ¥ 40 ©
6,00,000 81 T 5 ¥ 40,000 TFA W + 10
o Fm FR 2000 8% FET IR, T 100 TR
W F s ¥ 0000 A T ok 1800
AR TR R WER B R B

2. Explain the provisions with regard to Minimum
Alternate Tax (MAT) under section 115JB.Also explain
provisions wifh’ regard to tax credit under section
115JAA. ‘ (15)

OR

The net profit of ABC Ltd. for the year ending

31.3.2014 amounteld to Rs 2 crore after debiting and

crediting the following items.
|

(1) Provision for income tax-Rs. 30,00,000,
i

(2) Provision for deferred tax- Rs. 16,00,000.
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(3) Proposed dividend - Rs, 40,00,000.

(4) Depreciation debited to profit and loss account-
Rs. 24,00,000. This includes depreciation on
revaluation of assets- Rs. 4,00,000.

(5) Provision for permanent diminution in value of
investments- Rs. 4,00,000.

(6) Brought forward losses and unabsorbed
deprecmtlon as per books of accounts are as

follows- |
Previous Brought Unrabsorbcd :
Year Forward Loss Dep“r'eciatioq
1.2010-11  2,00,000 5,00,000
2.2011-12, - 3 66 666

32012-13 10,00,000 ' 200 ooo

. -Compute the tax 11ab1hty of.the compa'ii. y
assessment year 2014-15.

WhaﬁwaﬁﬁmmllﬁAA%miE;m 91%1%11'
& ¥ gwy W@ we #iw

=at

frefofir 7 1 T T e R S A ABC L

1 3132014 A w78 F By gg dm = 2?@3%{11;
l P.T.O.



I

593 : 6

3.

(1) s = & fow w@uE - 3 30,00,000
(2) i 2 foe e - = 16,00,000

(3) v=fam anaiw - = 40,00,000

(4) a7 @ ¥ 7 w0 T G @ - % 24000001

T wRewfRl * pRieE W wEm 400,000
miw ) |

(5) PR & o7 ¥ vt wer @ R TEH-F, 4,00,000

(8) aﬁa@%mmﬁamﬁﬁaﬂimﬁﬁaﬂmm
™ YER T

@ = A T e e
1.2010-11 2,00,000 5,00,000
2.2011-12. ; ©3,00,000
3.2012-13 10,00,000 " 2,00,000

ﬁuﬁwa&zoi4—vs%{ﬁvw¥ﬁaﬁmémmaﬁm
T '

(a) Explain the provisions with regard to deduction
under section 80IA in respect of profits and gains

" from industrial under taking engaged

in
infrastructure development.

(8)
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(b) Explain the provisions with regard to deduction

available to newly established units in Special
Economic Zone under section 10AA, (7}

OR

X and Y want to start a business. They have the
option of forming a partnership firm or a private
limited company. If they form a partnership firm
they will contribute capital of Rs. 8,00,000 each
with interest of 12%. They will also get
remuneration of Rs. 26,000 p.m. each. The
remaining profits will be distributed equally by
them. If they form a company, they will contribute
Rs. 4,00,000 each as capital and Rs 4,00,000 each
as loan@ 15%. They will get remuneration of
Rs. 26,000 p.m from the company also. The
remaining profits will be distributed as dividend
equally by them. The estimated income before
interest and salary is Rs.16,00,000. Suggest
whether they should form a partnership firm or a
company. Do all calculation according to the

provisions relating to assessment year 2015-16.

(%) smuRer wem @ R ¥ e Ao shenfie Iue
¥ ol ol P @ TR ¥ UR 80IA B T et
¥ g Iual ® we W

(@) U7 DAA F dFTa e arffe I A @ ¥ ey

Tl TR HA @ €y ¥ IJuEy W B
P.T.O.
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X 3R Y FRER ge e wwd ¥ I T faeer 2
f& 3 wEed ® I o e R wwn ok 3
e T T § A TS 12% P =W W T 8,00,000
# S W AW W I} UAE AT 26,000
g Titsfe W e 3w o 3 9 e § S
dic oMt ot 9 S e € @ 9w T 4,00,000 T
® ¥ A AR T 4,00000 @ 15% 0 Wi I= A
¥ % 26,000 TRufiE & w1 A BN Iw o™ TS
R AW & BT W OWER Siel WO A AR q9T A
T4 % 16,00,000 IR @ B W@ ARw W 3=
TN W T AR @ wEae e s
TRewe fFuleer o 2015-16 ¥ Haltw Justh @ sEER
Fifmw)

{2} Enumerate the factors and tax considerations with

respect to make or buy a product. (5)

(b} ABC Ltd. is working with capital of Rs. 2,00,00,000

and wants to expand its operations for which it

needs additional Rs. 75,00,000. It has three options
as follows:

(1) Raise the entire amount by issue of share
capital.
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(2) Raise Rs 15,00,000 through bank borrowings
at the rate of interest of 14%, Rs. 15,00,000
through issue of debentures at the rate of
interest of 10% and the balance by issuc of

share capital.

(3) Raise Rs.50,00,000 through debentures at the
rate of interest of 10% and the balance
through issue or capital.

The company makes a return at the rate of
25% annually before deduction of tax and
interest and the rate of tax is. 30%+2%
EC+1% SHEC. Suggest which option the
company should choose. (10)

OR

(a) Explain the provisions with regard to taxability of
bonus shares at the time of their issue, sale,
redemption and liquidation of the company in the
hands of company as well as shareholders. (8)

(b) Explain the provisions under section 45(1 A} with
respect to receipt of Insurance compensation. Also
explain the taxability of the insurance

compensation if section 45(1A) is not applicable.

(7)

(%) Pl Seae A TR @ W B ey A R R A
FEUEFHA A WO HHT)

P.T.O.
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(@) ABC Ltd. % 9 © 2,00,00,000 FEfRa §oft 3 ok
Fo ¢ W fawr wen a2 e fr afife
% 75,00,000 W AEEEHEl B THD W G frwe
W UER B

(1) 90 afE = IR G B P g o= T S

(2) % 15,00,000, 4% F = W W & F Weaw A
Jur fow e, 10% =W T W % 15,00,000 HOT
T & g el 3w e g @ Pl e

{3} 0% %t = W T D WA | T 50,00,000
wE ey W ok 9w 450 @ fefr e

ST H T AR A F wAR A qF 25% wifiw
W W W Iaed fawwn 3w AR | 30%+2%
EC+1%SHEC 21 @Ay fF &5 = FH-w
fewe T R

HFl

(F) T & T8 iR TR o F U A I I
o, fel, A o T 2 wReweT W woiEr 3
T IT W w i

(@ )ﬁmuﬁfﬁaﬁmﬁw%aﬁuﬁmﬁ(m)%m
ST R e W AR uw 45(IA) ey 8
?Jmﬁmmﬁmﬁwaﬁ%m
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Mr. X purchased an asset for scientific research for
Rs.40,00,000 during the previous year 2009-10. During
the previous year' 2013-14, the asset ceased to be
used for scientific research. The profits from business
before depreciation during 2013-14 are Rs 16,00,000.
The written down value of the block of assets (15%)
as on 1.4.2013 is Rs.24,00,000. The scientific research
asset if used for business shall be eligible for
depreciation @ 15%. Compute the total income if the
scientific research asset is sold for Rs. 60,00,000

assuming

(i) it is sold without using for business
(i) It is sold after ﬁsing for business.

The cost intlation index for 2009-10 and 2013-14 are
632 and 939 respectively. (15)

OR

(a) What is slump sale as per section 2(42C).How
would you determine capital gains in the case
of slump sale under section 50B. (7)

(b) What is amalgamation as per section 2{IB) What
tax incentives are available to the amalgamating
company, amalgamated company and the
shareholders of the amalgamating company under

the scheme of amalgamation. (8)

P.T.O.
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7§ a9 2009-10 F T N X ¥ T 40,00,000 ¥ A7EAE
gaEu & fre oo oRaeR @l o af 2013-14 F R
TREaf @ A sREaE ® fom wem w9t o R
T 2013 - 14 %ﬁﬁwﬁﬁm%mﬁ
16,00,000 @1l 9R WA B wiw (15%) ® 142013 =
srafeiRad AF 24,00,000 31 A FEUR TRadfs w1 afe
FRAR & o wge e 2@ SE T e T
15% 3 | A A s aReaRT O T 60,00,000
A I I 2, 99 U A gY T oY IRl SR

(i) S8 *RAR & fog ygem fay Ben 3 2
(i) 39 *REr 3 fr sgea feg o @ T ¥ T &

2009-10 3 2013-14 F fog oW WY Taw ww
632 3R 939 ) '

Jrerar

(%) 4 2(42C) & Fgen 74 ek ¥ = wwd 27 um
50B B st w8 B B wau v Y aem @
fra var fRuifRg w337

(@) ol 2 (1B) & s@R wwoeT ¥ war wegd ¥7 e
=l AN & sota wmeE s, emRe w5 ok
HHHEE FOA D VW RS F T O - DT IIeR
B ‘

(1560)
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